EARAROBEEIERT — 2 N— IBISH —F

2019510828 (k) 14E=&HE2H

BN cL 5 r -k (hBBm) ¥5%2R&

‘ [Riz] &

‘ [REBE] — | & (&) 14000 B

[AE<%] 1 7% :2,500,000  ~ 2 7&:700,000 § 3 & :400,000 4

4 7% 250,000 F 5 3& : 150,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o e HNAEEE— : —4-3- — ROFEE (BHE)
il7lg|pFro35>70 it 2 oo 1.(3_1).1 3-4-3-3 | 39.9 5 (4_315) hex
R:T5TIVRZ Biwh1/HF pNie]
S 4 2 | AMEE 1:31.3 1-1-1-1 | 40.2| — 2 442 | SiEEZ (BHEE)
2 3|EvyInNL)—F 8.0 (1 1/2) (1) | RERF
by TR B:hoNLY—F BFR B
- pr—— . 7-7- - AR (BEE)
3 777840600037 B2 e 1(/73::? R ! (5:); INEH (
L:xrinq4n— B:A12 7Ly FHBSE
. SHEX : 01— — MTEA (BEE)
al5l5 | TLTRE—T> i 2 i 1(.33/14)6 2-2-1-1 | 40.5 1 ?:122) ;;;gr'_
RNPVTSY BisF/FerR lEpyie]
S # o2 | AE— 1:31.7 5-5-4-4 | 40.4| — 10 | 442 |BHZ (BHE)
5 6 dI—tA(>a—%— 55.0 (1/2) (+5) EFER
RiA—v v TI— BRAFIVRZ ER &
53 4 2 | LIEHRE 1:32.3 9-9-9-9 [39.6| — 9 464 |BETIBE—5 (BHE)
6l7lg|AXT%Y 54.0 @3 (1) |FREEA
L:d—ILRkAqO— B:AOrJE=— RS
-3 42 | RZEIE 1:32.3 10-10-10-10{ 39.2 | — 6 423 |$BREX (BHE)
718l10 E—B—=¥F £53.0 (7€) (+12) | SRR B
R:RTY—b—O— B:YHYFUKS 2R T T — I
. o2 | RARHAER 1:32.5 7-8-8-7 |40.2| — 8 441 | FHRES (BHE)
8 4| *AEV=VIIL 5.0 (3/4) © | W0 Te¥u5T
L:7UF—v BAXEU-—Fvu T Pl
;= . 42 | RS 1:33.6 4-6-5-6 | 42.1| — 3 470 | FHES (BHE)
9/8l11| 7748y 7 55.0 (5) (-q) |BTER
R:trsa7aq4 BiNSEAIT-R b FHh)Tr—1
N N 1 _EBLE :33. —3-6- . = BlY (BEHE)
1011 | 1 Ty TEYF 2 55.0 ; 1(13/32)7 AAAN R ! (‘:_7;) EE;E
L:bh—trkvLRY B:FIAPIVUFS HHEBS
— - EEEE . N e )
*k 23T UNFrya "2 5.0 (F3H) (=) |EER=
RiFkvvH/E R BiRrula I Ih—Fy R JRET2-T7—L
® I —F—@EBIERL
13=7r= 3,5,9,11,6,1,4,7,8,10
2= = 3,5,1,9,6,11,7,4,8,10
ga=7"= (3,5),9,6,11,1,7,4,8,10
40—+ — (3,5),9,6,7,11,4,1,8,10
[ N3
B OB 9 2,290 714K 3-9 610M % E 3-7 3,810H 3EHE 3-7-9 6,900/
8 B 9 250M 7-9 1,320H B & 3-9 3,400M K31 9-3-7 76,040
3 150/ 3-7 630F B H 9-3 8,950
7 310H

ABICOVWTRDTEEERROODE. TR LIV,




